VESYSSTAT

SQL A0 0D SEE 5 1B S e 22
( Oracle £ TOHEHE )

o=

x1T (A7 7 ViEdEhig o R

R\

W
=
[t
N—

v$sysstat O ﬁji
v§sysstat (2T, SQL SCHLBRECT 4 A7 & D T/O s L TV D a s L
Oracle v A7 LA2F COBRMINELZHERT D

Select name, value from v$sysstat

value fEIZ. 47 7 ViE#ENTHE O RFHE

in ( 'execute count' , ‘'user commits' , 'physical read bytes' ,
'physical write bytes', 'bytes sent via SQL*Net to client',
'bytes received via SQL*Net from client', 'db block gets',
'db block gets from cache' );

where name
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0 logons cumulative 7 recursive calls

1 logons current 8 recursive cpu usage

2 opened cursors cumulative 9 session logical reads

3 opened cursors current 10 session stored procedure space

4 user commits
5 user rollbacks
6 user calls
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Select STATISTIC#, NAME From V$STATNAME Where
UPPER(NAME) like '%CPU%' ;



fil 1))

ATRAAS (VSSESSTAT DAL =t— R8Tt BAE2R D HIBIT 5 72 0 DX /33 5)
I* A X MIXd 5 statistick 2 — RESOHAE */
SELECT name, statistic#

FROM V$STATNAME
WHERE name in ('redosize', 'CPU used by this session') ;

name statistic#
CPU used by this session 12
redo size 134

CPU VU YV—REZREIZFERAL WAy v a OREFIE
/* statistic# = — R&EFITXTT D HEEHEHRO TIRIE & O i A */
SELECT SE.sid, SE.serial#, SE.username, ST.statistic#, ST.value
FROM V$SESSION SE , V$SESSTAT ST
WHERE SE.sid = ST.sid
AND SE.username = '<z—H%—4>'
AND SE.type = 'USER'

AND ST.statistic# in (134)
AND STwvalue > IH#FIRE

sid serial# username statistic# value

141 26 SCOTT 134 269487

Redo v 7 Z REIZEH (EHFLHE) L TWHILEOHTESE
/* statistic# = — FFES T DHEHEHRO TIRAE & O i d */
SELECT SE.sid, SE.serial#, SE.username, ST.statistic#, ST.value
FROM V$SESSION SE , V$SESSTAT ST
WHERE SE.sid = ST.sid
AND SE.username = '<z—H—%>"
AND SE.type = 'USER'

AND ST.statistick in (12)<
AND STwvalue > I TIRE

sid serial# username statisticH# value

163 28 SCOTT 12 357812



D347 2 b EDERALINTFFIZ,
ZDEya® VISESSTAT Ea—0 [EITHEEN V)T Enb]
EWSHERTA FDOET

TAMERE Y g &S 117

it v v a VSO SQL :
Select sid, username from v$session SE
Where username = 'KOZUE';

HaHE RO SQL :
Col wusername Format A10
Select SN.name , ST.walue , STsid , SE.serial# , ST.statistic# ,
SE.username
From v$session SE , v$sesstat ST , v$statname SN
Where ST.sid = 117
and SE.sid = ST.sid
and ST.statistic# in(11,12)
and ST.statistic# = SN.statistic#;
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create table test_num(coll number, col2 number );

begin
dbms_random.SEED(1) ;
for 1 in 1..100000 loop
insert into test_ num values(i, ceil(dbms_random.value(1, 1000000000)))
end loop
end
/

select count(*) from (
select col2, count(*) from test num

group by col2 having count(*)>=2);

drop table test_num;



